
©F A2m0r2E0v kKzuftgaO tSfovfRtTwtanrmeC xLdLnCG.X G zAwlhlD WrPi`gDhttTsY [rKe]sAeIrOvgeZdQ.B v gM\aSdIeX wwuiftXhT bIVnQfmiMnciHtKee kA]lGgLeLbjrOaL M1G.

Worksheet by Kuta Software LLC

Geometry

Writing Linear Equations
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Write the slope-intercept form of the equation of the line through the given point with the given
slope.

1)  through: (-3, -2),   slope = -
1

2

y = -
1

2
x - 

7

2

2)  through: (-5, 5),   slope = -
6

5

y = -
6

5
x - 1

3)  through: (5, 3),   slope = 1

y = x - 2

4)  through: (2, -1),   slope = 
3

2

y = 
3

2
x - 4

5)  through: (3, 5),   slope = 
8

3

y = 
8

3
x - 3

6)  through: (4, 4),   slope = 
9

4

y = 
9

4
x - 5
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7)  through: (-4, -5),   slope = 2

y = 2x + 3

8)  through: (3, 5),   slope = 
4

3

y = 
4

3
x + 1

9)  through: (5, 3),   slope = 
3

5

y = 
3

5
x

10)  through: (1, 3),   slope = 5

y = 5x - 2

11)  through: (1, -2),   slope = 2

y = 2x - 4

12)  through: (-2, 3),   slope = -2

y = -2x - 1


